UP Board Class 12 Physics Question Paper 2023 (Code 346 BS)
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!nstructions :

i
] All queStionS a
ii) re compulsory-

This
JUest; : * - '
Hon Paper has 5 sections : Section A, Section B, SecUon

111) SeCti()n 0: D ang Section E.
1S _ : ‘ ‘ .
I mary Of muitiple choice type and each question carri¢s
1v) Sect;
on R ; |
1 1S of Very short answer type and each question carrics
Mark |
V) Secti :
on Ci |
Vi) s S of short answer type-I and carries 2 marks each.

€Ction p;
. 'S of short answer type-II and carries 3 marks each.
cCllon E ig of lo

In a

glven, v,
10U have tg g : '
0 only one question from the choices given in
the question . .

Vii)
ng answer type. Each question carries 5 marks.

fOur : : ‘
Questions of this section internal choices have been

Vill) The g -
ymbols used in the question paper have usual meaning.

qug - H
Section - A
Lo ®) IR RS ( k) gy 2
Y k=0 11) k=+1
111) o= - 1vV) k= oo (39<7) |
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I v
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Vi .
1)
COmmon-bgsge amplifier
1 :
) “Ommon-emitter amplifier
111 *
) common-collector amplifier
1v) none of these. :

What will be the refractive index of a thin prism material if its

refracting angle and angle of deviation' are the same ?
i) 1-5 _ n) 20
iii) 1-33 1v) O (zero). 1

The equation 4 { H — jHe +2 «B” +Q represents

" nuclear fission 1)  nuclear fusion

ijij  nuclear disintegratio® V) none of these.
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Among the following, which one i8 not the fundamental particle 7

¢)

1) Positron 11) Electron
1i) o -particle v) Neutring. J
f) Resistance R, inductance L and capacitor C are connected 1N

series. The frequency of alternative current source is n and

resonant frequency is n, . Under which condition does the current

lag behind the voltage ?

l) n=0 11) n<nr
111) n=n 1v) n>n 1
e -
Section - B
F) wmmﬁmmq@mm. ]
@) golt aURe | |1 AR € 2 :

AUgaisd dd g9 O

N w

m n.—_—g- e F FE & TF IaA o Bl n=

< T R gl S ST T e S 2 1

o) ﬁﬁ;ﬁﬁm#mm(g)mmmt? 1
Z) N“#ﬁﬁﬂwﬁmaﬁmaﬁml :
7
i | :
a) T A ERE g
tic waves. 1
a) Write any two main features of electromagnetic !
s velength ?
what is meant by threshold wa —
b}) what will be the effect on focal length and nature of € ens of
>

L 3 gipped in a liquid of refractive
glass of refractive index n=75 "

i
3

index n=7 ?
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rge on nucleus ;N In coulomb.

DEﬁne 1
h
erlry Of self-inductance.

g - 49
3. %) 45 o, ; Section - € .
W ‘%WW@mgxlo'sﬁmﬁgmﬁqﬁﬁ
HT Sy o v ¥ | GEER AT 1 frew e el 2
" 'wqﬂﬁwﬁ@mwmﬂﬁiﬁﬁgﬁwﬁ

IS (L E S S —— 2452 ¥

_ - 2
HM%WWgﬁlwwmﬁmﬁ%%ﬁmﬁm
miﬁ}ﬁﬁﬂ@‘%@%ﬁhﬁgﬁzoﬁﬁ?ﬂ%lﬁﬁﬁ
P feelt T 2
aﬂtﬂawa’f‘m%ﬂuﬁWW%?m—aﬁﬂq&w%%ﬁ
AT T YRT & e U e e SRRy #) oA BT 2

3. a An electron of energy 45 eV is revolving in a circular path In

9)

)

)

magnetic field of intensity 9x10™°weber/m?2. Find the radius of

circular path. 2.

b) A particle of mass m and charge g traverses distance d from the

rest in a uniform electric field E. Prove that the velocity ( v )

2qEd

attained by the particle is ?= — 5

C) The magnifying power of a telescope is 9, When it is adjusted for

parallel rays then dism?ce between eye lens and objective is
20 cm. Determine the focal lengths of both the lenses, 2
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d] What are meant by ohmiC and non-ghmijc resistances ? Draw
graph between voltage and current for non-ohmic circuit and

define dynamic resistance. 2

afowrfid STy | 3
@) NORME T T 7 3H & Marh Gired a1 Feg Fiielt sret sifvg 3
M frd oftay & uRT wd Siean S FHIE e €

i = 3.5sin(628¢ + /6) T

v =28sin(628t - x/6) A

T FIAT : () 9RT H T AE YA HM, (i) FEARe @ (i) QR q

dieedl & oY HeA | | -3

o) T (y) TRt % AR g o fefEd | T qen e O W e
fraa afus @t e 2 3

T) TEEE TR ¥ 30° F ) W T TIF F GHH R I AT F WY
45° T FVT A &1 A T HIOT A A FEW 2 3

a)  Classify nucleus on the basis of atomic number and mass number
and define them. https://www.upboardonline.com 3

b)  Whatis NOR gate ? Draw jts logic symbol and obtain truth table. 3

C) The equations of current and voltage 1n a circuit are as follows -

i=3-5sin(628t +n/6) ampere
v :—- 2831n(628t — 1[/6) VOlt-
Find out (i) root mean square galue of current, (i) UM¢ Period and

(11i) phase difference between current and voltage. 3

. n h .
d) Write four main Properties of 7-Tays. Whose wavele gt_ Is larger

3
among y-rays and ultrgyiolet r2YS °
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with magnetm meridian, it ma

an angle of 450 | - je of
43 With the horizontal what will be the actual ang \

| 3
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Obtain the formula for refractiye index of m t >
alerial
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Section - E
ST AR & fer e ¥ @t e @ s i
- ..,

Wﬁm%ﬁmﬂw%ﬁﬂﬂAﬂ?lTBﬁ"lﬂwﬁilauAmwu A

B%mmmﬁlﬂﬁmawmmaﬁwﬁ.a}mnawﬁﬂuﬁ TNET
FIT | 5

0. Explain both the laws of Kirchhoff of electrical circuit. 5
OR

Two wires made of same matenal and of same masses A and B are taken,
The diameter of wire A is half to that of B. If the resistance of A be

24 ohm, then calculate the resistance of B. D
7.  OE9 Tl & FE-a0T FENROT ¥ wr ded & 2 S-Erel alie & e waey
st F9 & TRl H ®1ud S | 5

RNgar

Fifers FT Y WAL TRT W TR @i Wi @ wien & fee g3 w0 it
5

Fa What is the meaning of matter-wave of Louis de Broglie ? Deduce the

relation for wavelength of de Broglie in terms of kinetic encrgy. S

OR

| . . late capaey
Derive the formula for the capgeitant® of n parallel p pacitor,

-
3 )

partially filled with a dielectric,
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Draw the cnergy level ¢
of Lyman, Balmer, Pasc

which region do these S

lagram for hydrogen atom. Show the transitions

hen, Brackett and Pfund series in the diagram. In

pectrum lie ? 5

LED ¥ =/ arqd & ?mﬁ:lm,mmqa'w&hﬁ:mmﬁt
5

o, What is the meaning of wavefront ? Explain the laws of reflect;
. ection
explaining Huygens’ principle of wavefront. v
o
OR
What is LED ? Explain its principle, construction and working
. : O
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1

-= 9 x 10" an'?/t‘j

EI i dgaeiiern €)= 885x 10 '2¢2/N-m?

Physical constants :
Mass of electron (m, ) = 9.1 & 103!

kg

Charge of = 1. ~1¢
g electron = 1:6 x 10~19 coulomb

Planck's constant (h) =66 x 1034 J-8

Speed of light in vacuum ( ¢)=3y 108 m/s

1
4 e

= 9 x 109 Nm? /¢?2
0

Acceleration due to gravity (9)=10m / o2

Rydberg constant ( R) = 1-097 ,, 107"

Permittivity of free space (€5)= 8.85 10.-12C‘2/N—m2
JX
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